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Exercise 14.1 Pg. 152 (No 1a-e)

𝐴𝑟𝑒𝑎 = 𝑏 × ℎ
= 7 × 5
= 35 𝑐𝑚2

𝐴𝑟𝑒𝑎 =
1

2
𝑏ℎ

=
1

2
(6)(4)

= 12 𝑐𝑚2

𝐴𝑟𝑒𝑎 =
1

2
× ℎ × (𝑏1 + 𝑏2)

=
1

2
× (5) × (6 + 11)

= 42,5 𝑐𝑚2



Exercise 14.1 Pg. 152 (No 1a-e)

𝐴𝑟𝑒𝑎 =
1

2
× 𝑑1 × 𝑑2

=
1

2
× (16) × (6)

= 48 𝑐𝑚2

𝐴𝑟𝑒𝑎 =
1

2
𝑏ℎ

=
1

2
(11,2)(3,8)

= 21,28 𝑐𝑚2

𝒙

First need to workout the diagonals
52 = 42 + 𝑥2 𝑃𝑦𝑡ℎ𝑎𝑔
25 = 16 + 𝑥2

𝑥2 = 25 − 16
𝑥2 = 9
𝑥 = 3 2𝑥 = 2 3

= 6
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Exercise 14.2 Pg. 155 (No 1a, 2b,c)

1.) Calculate Area and Perimeter.
Round to 2 decimal places.

𝑨𝒓𝒆𝒂 =
1

2
𝑏ℎ

=
1

2
(9)(4)

= 18𝑐𝑚2

𝑷𝒆𝒓𝒊𝒎𝒆𝒕𝒆𝒓
First need to work out the sides 
of the triangles 

𝐴𝐵2 = 42 + 32 𝑃𝑦𝑡ℎ𝑎𝑔
𝐴𝐵2 = 16 + 9
𝐴𝐵2 = 25
𝐴𝐵 = 5𝑐𝑚

𝐴𝐶2 = 42 + 62 𝑃𝑦𝑡ℎ𝑎𝑔
𝐴𝐶2 = 16 + 36
𝐴𝐶2 = 52
𝐴𝐶 = 7,21𝑐𝑚

𝑃 = 6 + 3 + 5 + 7,21
= 21,21𝑐𝑚

5cm7,21cm



Exercise 14.2 Pg. 155 (No 1a, 2b,c)

2.) Calculate area of the shaded region.
All measurements are in cm.

b.)

8

6

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑪𝒊𝒓𝒄𝒍𝒆

First work out the diameter using Pythag
𝑑2 = 82 + 62 𝑃𝑦𝑡ℎ𝑎𝑔
𝑑2 = 64 + 36
𝑑2 = 100
𝑑 = 10𝑐𝑚

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑹𝒆𝒄𝒕𝒂𝒏𝒈𝒍𝒆
𝐴 = 𝑙 × 𝑏
𝐴 = 8 × 6
𝐴 = 48 𝑐𝑚2

𝐴 = 𝜋𝑟2

𝐴 = 𝜋 × 5 2

𝐴 = 78,54 𝑐𝑚2

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑺𝒉𝒂𝒅𝒆𝒅 𝑹𝒆𝒈𝒊𝒐𝒏
= 𝐴𝐶𝑖𝑟𝑐𝑙𝑒 − 𝐴𝑅𝑒𝑐𝑡
= 78,54 − 48
= 30,54𝑐𝑚2



Exercise 14.2 Pg. 155 (No 1a, 2b,c)

2.) Calculate area of the shaded region.
All measurements are in cm.

c.)

4

4

8

8

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑪𝒊𝒓𝒄𝒍𝒆
𝐴 = 𝜋𝑟2

= 𝜋 × 42

= 50,27 𝑐𝑚2

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑺𝒒𝒖𝒂𝒓𝒆
𝐴 = 𝑙 × 𝑏
= 8 × 8
= 64 𝑐𝑚2

𝑨𝒓𝒆𝒂 𝒐𝒇 𝑺𝒉𝒂𝒅𝒆𝒅 𝑹𝒆𝒈𝒊𝒐𝒏
𝐴 = 𝐴𝑆𝑞𝑢𝑎𝑟𝑒 − 𝐴𝐶𝑖𝑟𝑐𝑙𝑒
= 64 − 50,27
= 13,73 𝑐𝑚2
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Revision Ex Pg. 159 (No. 1b, 2b, 3, 6, 8)

1b.)   0,066𝑚 = 66𝑚𝑚
× 1000

0,066𝑚2 = 66 000𝑚𝑚2
× 10002

2b.)   𝐴𝑟𝑒𝑎 = 𝜋𝑟2

121 = 𝜋𝑟2

𝑟2 = 38,515496…
𝑟 = 6,21cm

____       ____
𝜋 𝜋

√ √

∴ 𝑫𝒊𝒂𝒎𝒆𝒕𝒆𝒓
= 2 × 𝑟𝑎𝑑𝑖𝑢𝑠
= 2 × (6,21)
= 12,42𝑐𝑚



Revision Ex Pg. 159 (No. 1b, 2b, 3, 6, 8)

6 m

3 m

6 m

5 m5 m
h

3                       3
l l

Area Rectangle
𝐴 = 𝑙 × 𝑏
= 6 × 3
= 18𝑚2

Height of Triangle
32 + ℎ2 = 52 𝑃𝑦𝑡ℎ𝑎𝑔
9 + ℎ2 = 25
ℎ2 = 25 − 9
ℎ2 = 16
ℎ = 4𝑚

Area of Triangle

𝐴𝑟𝑒𝑎 =
1

2
𝑏ℎ

=
1

2
(6)(4)

= 12𝑚2

Total Area
= 𝐴𝑅𝑒𝑐𝑡 + 𝐴∆
= 18 + 12
= 30𝑚2



Revision Ex Pg. 159 (No. 1b, 2b, 3, 6, 8)

3 m

2 m

2 m

Diameter = 2𝑚
∴ Radius = 1𝑚

Area of the Window

𝐴𝑅𝑒𝑐𝑡 = 𝑙 × 𝑏
= 3 × 2
= 6𝑚2

𝐴𝑇𝑜𝑡𝑎𝑙 = 𝐴𝑅𝑒𝑐𝑡 + 𝐴𝑆𝑒𝑚𝑖 𝐶𝑖𝑟𝑐𝑙𝑒

= 6 + 1,57
= 7,57𝑚2

𝐴𝑆𝑒𝑚𝑖 𝐶𝑖𝑟𝑐𝑙𝑒 =
𝜋𝑟2

2

=
𝜋(1)2

2

= 1,57𝑚2

Perimeter of the Window



Revision Ex Pg. 159 (No. 1b, 2b, 3, 6, 8)

3 m

2 m

Diameter = 2𝑚
∴ Radius = 1𝑚

Area of the Window

𝐴𝑅𝑒𝑐𝑡 = 𝑙 × 𝑏
= 3 × 2
= 6𝑚2

𝐴𝑇𝑜𝑡𝑎𝑙 = 𝐴𝑅𝑒𝑐𝑡 + 𝐴𝑆𝑒𝑚𝑖 𝐶𝑖𝑟𝑐𝑙𝑒

= 6 + 1,57
= 7,57𝑚2

𝐴𝑆𝑒𝑚𝑖 𝐶𝑖𝑟𝑐𝑙𝑒 =
𝜋𝑟2

2

=
𝜋(1)2

2

= 1,57𝑚2

Perimeter of the Window

𝑃 = 3 + 3 + 2 +
= 11,14𝑚

3 m

𝐶 = 2𝜋𝑟 ÷ 2
= 2𝜋(1) ÷ 2
= 𝜋

𝜋



Revision Ex Pg. 159 (No. 1b, 2b, 3, 6, 8)

3cm

𝒙

Find the length AE

𝐴 =
1

2
× 𝑑1 × 𝑑2

60 =
1

2
× 6 × 16 + 𝑥

60 = 3 × 16 + 𝑥
60 ÷ 3 = 16 + 𝑥
20 = 16 + 𝑥
𝑥 = 20 − 16
𝑥 = 4

𝐴𝐷2 = 32 + 42

𝑃𝑦𝑡ℎ𝑎𝑔
𝐴𝐷2 = 9 + 16
𝐴𝐷2 = 25
𝐴𝐷 = 5𝑐𝑚

𝐷𝐶2 = 32 + 162 𝑃𝑦𝑡ℎ𝑎𝑔
𝐷𝐶2 = 9 + 256
𝐷𝐶2 = 265

𝐷𝐶 = 265𝑐𝑚

Perimeter
= 𝑨𝑩 + 𝑨𝑫+ 𝑩𝑪 + 𝑫𝑪

= 𝟓 + 𝟓 + 𝟐𝟔𝟓 + 𝟐𝟔𝟓
= 𝟒𝟐, 𝟓𝟔𝒄𝒎


